



[image: image]









[image: ]






Hodder Education, an Hachette UK company, 338 Euston Road, London NW1 3BH


Orders


Bookpoint Ltd, 130 Milton Park, Abingdon, Oxfordshire OX14 4SB
tel: 01235 827827
fax: 01235 400401
e-mail: education@bookpoint.co.uk
Lines are open 9.00 a.m.–5.00 p.m., Monday to Saturday, with a 24-hour message answering service. You can also order through the Hodder Education website: www.hoddereducation.co.uk


© Ray Powell and James Powell 2015


ISBN 978-1-4718-2978-9
eISBN 978-1-4718-2979-6






	Impression number

	      5

	      4

	      3

	      2

	      1






	Year

	  2019

	  2018

	  2017

	  2016

	  2015







All rights reserved; no part of this publication may be reproduced, stored in a retrieval system, or transmitted, in any form or by any means, electronic, mechanical, photocopying, recording or otherwise without either the prior written permission of Hodder Education or a licence permitting restricted copying in the United Kingdom issued by the Copyright Licensing Agency Ltd, Saffron House, 6–10 Kirby Street, London EC1N 8TS.


This textbook has been approved by AQA for use with our qualification. This means that we have checked that it broadly covers the specification and we are satisfied with the overall quality. Full details of our approval process can be found on our website.


We approve textbooks because we know how important it is for teachers and students to have the right resources to support their teaching and learning. However, the publisher is ultimately responsible for the editorial control and quality of this book.


Please note that when teaching the AQA A-level Economics course, you must refer to AQA’s specification as your definitive source of information. While this book has been written to match the specification, it does not provide complete coverage of every aspect of the course.


A wide range of other useful resources can be found on the relevant subject pages of our website: www.aqa.org.uk.


The publishers would like to thank the following for permission to reproduce photographs:


pp.2 Fotolia; p.8 Fotolia; p.24 Advertising Archives; p.31 Fotolia; p.59 Fotolia; p.68 Fotolia; p.80 Jerome Eldorado/Alamy; p.84 TopFoto; p.85 Fotolia; p.101 Fotolia; p.103 Fotolia; p.112 Advertising Archives; p.138 Fotolia; p.141 Neil Fozzard; p.142 TopFoto; p.146 Richard Levine/Alamy; p.150 Fotolia; p.156 Imagestate Media; p.168 Fotolia; p.172 Fotolia; p.195 Fotolia; p.201 Ingram Real Office; p.214 Fotolia; p.228 Fotolia; p.236 Fotolia; p.242 Stephen Bardens/Alamy; p.245 Nathan King/Alamy.


All website addresses included in this book are correct at the time of going to press but may subsequently change.


The front cover is reproduced by permission of Fotolia.


Typeset by 11/13 pt ITC Berkeley Oldstyle Std Book by Integra Software Services Pvt. Ltd.,
Pondicherry, India
Printed in Italy


Hachette UK’s policy is to use papers that are natural, renewable and recyclable products and made from wood grown in sustainable forests. The logging and manufacturing processes are expected to conform to the environmental regulations of the country of origin.





Get the most from this book


This textbook provides an introduction to economics. It has been tailored explicitly to cover the content of the AQA specification for the AS qualification and for the first year of the A-level course. The book is divided into two parts, each covering the sections that make up the AQA programme of study.


The text provides the foundation for studying AQA economics, but you will no doubt wish to keep up to date by referring to additional topical sources of information about economic events. This can be done by reading the serious newspapers, visiting key sites on the internet and reading such magazines as Economic Review.
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Key terms


Clear, concise definitions of essential key terms where they first appear and a list at the end of each part.
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Study tips


Short pieces of advice to help you present your ideas effectively and avoid potential pitfalls.
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Learning objectives


A statement of the intended learning objectives for each chapter.
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Extension material


Extension points to stretch your understanding.
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Test yourself


Exercises to provide active engagement with economic analysis.
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Synoptic links


Connections between different areas of economics are highlighted to help improve your overall understanding of the subject.
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Case studies


Case studies to show economic concepts applied to real-world situations.
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Quantitative skills


Worked examples of quantitative skills that you will need to develop.
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A-level-only content


Sections of the book that apply only to A-level students are highlighted using a purple line.
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Summaries


Bulleted summaries of each topic that can be used as a revision tool.
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Practice questions


Practice questions are provided at the end of each section to help you check your knowledge and understanding of the topics you have covered within each chapter.
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Introduction


For most of you, welcome to a new subject. Unless you have studied economics at GCSE, it is probably only in the last week or so that you have given thought to the nature of the economy in which you live, and to what you must learn about the economy in the next few months or years. This introduction aims to ease you into the subject so that you quickly build up a broad idea of what you are going to study in your economics course.


Starting from a position of ignorance


At the beginning of an economics course, you are not expected to know very much about the economy. For the last 2 years all your mental energy has been directed at the GCSE subjects you have been studying, and economics will probably not have been one of them.


It usually takes at least a term to settle into a new subject. This is certainly the case with economics, which is different in many important respects from other subjects you may have previously studied. We hope that by next February or March you will have settled, but if not, don’t in the first instance blame yourself, blame the subject.


Economics is a current-affairs-related subject, so it will help if you can become interested in what is going on in the country you live in, and also in the wider world. However, you are not expected to possess this knowledge at the beginning of the course. Any relevant current affairs knowledge you already possess is a bonus, not a requirement.


Nevertheless, if you are not prepared to read about current affairs in newspapers or on web pages such as BBC News (www.bbc.co.uk/news), you are unlikely to enjoy economics or to do very well in the course. So start reading newspapers (getting advice on what to read from your teachers as you go), and don’t switch off the television whenever the news or the BBC2 programme Newsnight starts.


Introducing microeconomics and macroeconomics


Economics divides into two parts: microeconomics and macroeconomics. Microeconomics, which is the part of economics concerned with economic behaviour in the individual markets that make up the economy, is the subject matter of Chapters 1–5. Essentially, microeconomics investigates the ‘little bits’ of the economy, namely individual consumers, firms, markets and industries.


By contrast, macroeconomics is the part of economics that attempts to explain how the whole economy works. Macroeconomics examines the aggregates rather than the little bits of the economy: the aggregate (total) levels of output, income, prices, employment and unemployment, and the trade flows that make up the balance of payments.


Economic problems and economic policies


One of the most interesting areas of economics lies in studying the economic problems facing governments and the economic policies that governments use to try to get rid of or reduce the problems. Economic problems can be microeconomic or macroeconomic, though some have both micro and macro elements.


At the micro level, the main problems lie in the field of market failure. As we shall see in Chapter 5, market failure occurs whenever markets do not perform very well — and in extreme cases fail to perform at all. Perhaps the best-known recent and current market failure stems from environmental pollution and subsequent global warming. We shall be examining a number of different government policies aimed at correcting market failures. These include taxation, subsidies and the use of regulations. We shall also explain how government failure results when government policies are ineffective or even downright damaging.


At the macro level, the main economic problems are unemployment, a failure to achieve and sustain a satisfactory rate of economic growth, inflation and an unsatisfactory trading and balance of payments position. Chapters 6–8 investigate these macroeconomic problems. Chapter 9 explains how fiscal policy, monetary policy and supply-side policy are used to try to tackle these problems.


How much maths do I need to know?


At the beginning of an economics course, students often seek advice about the amount of mathematics they need to know or must learn to help them with their studies. For AS and A-level economics, you don’t need to learn any more maths skills over and above those that you learnt at GCSE, but you do need to develop analytical and quantitative skills in economics when ‘selecting, interpreting and using appropriate data from a range of sources’.


The quantitative skills you must possess are listed below, first for AS, then the additional A-level skills.


Quantitative skills requirements


At AS


In order to develop your skills, knowledge and understanding in economics, you need to have acquired competence in the quantitative skills that are relevant to the subject content and which are applied when answering an economics question at AS. These skills include:





•  calculating, using and understanding ratios and fractions



•  calculating, using and understanding percentages and percentage changes



•  understanding and using the terms mean, and median




•  constructing and interpreting a range of standard graphical forms



•  calculating and interpreting index numbers



•  calculating cost, revenue and profit (average and total)



•  making calculations to convert from money to real terms



•  making calculations of elasticity and interpreting the results



•  interpreting, applying and analysing information in written, graphical and numerical forms





The assessment of quantitative skills will include at least Level 2 mathematical skills as a minimum of 15% of the overall AS marks. These skills may be assessed across the assessment objectives.


At A-level


The additional A-level skills, over and above the AS skills listed above, include:





•  understanding and using the term quantiles




•  calculating marginal cost, revenue and profit





The assessment of quantitative skills at the full A-level will include at least Level 2 mathematical skills as a minimum of 20% of the overall A-level marks. Again, these skills may be assessed across the assessment objectives.


You will be introduced to economics graphs and to the different ways of presenting and calculating statistics as you proceed through this book.


Although you don’t need to learn any more mathematics, economics contains a large number of abstract ideas and concepts, similar to those employed in mathematics, summed up in the saying ‘to an economist, real life is a special case’. A logical mind, capable of handling abstractions, will be of great help if you are to become a good economist.


Applying other skills from GCSE


For the most part, examination questions at both AS and A-level require written answers which vary in length from short definitions to long extended answers. This means that the writing skills you learnt when studying subjects such as English, history and geography at GCSE are essential for achieving high grades in economics. Particularly important are the skills of focusing an answer to address a set question, taking note of the total marks available for a question, and the ability to obey command words such as ‘define’, ‘explain’, ‘analyse’ and ‘evaluate’.





Breakdown of the examinations


Scheme of assessment


The AS and A-level specifications are respectively designed to be studied over 1 year and 2 years, with all assessments taken at the end of the course. (Some schools may teach AS over 2 years.) Both qualifications are linear. In order to achieve the award, students must complete all exams in May/June in a single year. All assessments must be taken in the same series.


The assessment objectives and aims


The assessment objectives (AOs) are set by the GCE regulator, Ofqual, and are the same across all AS and A-level economics specifications and all exam boards.


The exams will measure how students have achieved the following assessment objectives:





•  AO1: Demonstrate knowledge of terms/concepts and theories/models to show an understanding of the behaviour of economic agents and how they are affected by and respond to economic issues



•  AO2: Apply knowledge and understanding to various economic contexts to show how economic agents are affected by and respond to economic issues



•  AO3: Analyse issues within economics, showing an understanding of their impact on economic agents



•  AO4: Evaluate economic arguments and use qualitative and quantitative evidence to support informed judgements relating to economic issues





The assessment aims are set by the GCE examining board, AQA. For both the AS and A-level courses, the assessment aims are to encourage students to:





•  develop an interest in and enthusiasm for economics



•  appreciate the contribution of economics to the understanding of the wider economic and social environment



•  develop an understanding of a range of concepts and an ability to use those concepts in a variety of different contexts



•  use an enquiring, critical and thoughtful approach to the study of economics and develop an ability to think as an economist



•  understand that economic behaviour can be studied from a range of perspectives



•  develop analytical and quantitative skills, together with qualities and attitudes which will equip economics students for the challenges, opportunities and responsibilities of adult and working life





During your course of study, you should develop a critical approach to economic models and methods of enquiry. You should build up a good knowledge of developments in the UK economy and government policies over the 15 years before you sit the exams. You should also have an awareness of earlier events where this helps to give recent developments a longer-term perspective.


The examination structure


The AS examination


If you are an AS student, you will be assessed through two examination papers.


Paper 1: The operation of markets and market failure will examine mainly microeconomic topics.


Paper 2: The national economy in a global context will examine mainly macroeconomic topics.


Both papers have to be answered in 1 hour and 30 minutes. In both Paper 1 and Paper 2, the question structure is the same. Section A of each exam contains 20 compulsory objective test questions, and Section B contains two data response questions, which are officially called Context questions. You should answer either Context 1 or Context 2, but not both.


Mark allocation


The mark allocation for the AS examination, Papers 1 and 2, is as follows.





•  Section A: 1 mark per objective test question, with a maximum mark of 20 for the section



•  Section B: 3, 4, 4, 4, 10 and 25 are the maximum marks for each of the six parts of the Context question, for which the maximum mark is 50





The maximum mark for each paper is 70.


The A-level examination


If you are an A-level student, you will be assessed through three examination papers, each of which is 2 hours long.


Paper 1: Markets and market failure will examine mainly microeconomic topics.


Paper 2: National and international economy will examine mainly macroeconomic topics.


However, the A-level specification states that ‘students should appreciate that microeconomics and macroeconomics are not entirely distinct areas of study. For example, microeconomic principles often provide fundamental insights into understanding aspects of the macroeconomy. Similarly, economic issues and problems often contain both a microeconomic and macroeconomic dimension.’


In both Paper 1 and Paper 2, the question structure is the same. Section A of each exam contains two data response questions, which are officially called Context questions. You should answer either Context 1 or Context 2, but not both. Section B contains three two-part essay questions, of which you should answer one two-part essay.


Paper 3: Economic principles and issues is different in coverage and structure from Papers 1 and 2. It includes topics from both microeconomic and the macroeconomic sections of the specification. Particularly when answering questions linked to the case study in the question, you will be expected to recognise when it is appropriate to use microeconomic and/or macroeconomic models.


Section A of Paper 3 contains 30 compulsory objective test questions, which are both microeconomic and macroeconomic. Section B contains a single compulsory case study question, which may overarch the whole A-level specification. The details of the case study are provided in a separate source booklet, which you read at the beginning of the exam. Typically, the source booklet will contain four extracts covering the theme of the case study. The extracts will be in both numerical and textual form. Candidates will be required to use the numerical data and be expected to demonstrate quantitative skills in their responses to questions. The exam paper itself will contain three questions, which you will answer in the style of an economist giving advice to a client. The client to whom you are providing economic advice could be a company, a government minister or a labour organisation, though there are other possibilities as well.


Mark allocation


The mark allocation for the A-level examination is as follows.


Papers 1 and 2:





•  Section A: 2, 4, 9 and 25 are the maximum marks for each of the four parts of the Context question, for which the maximum mark is 40



•  Section B: 15 and 25 are the maximum marks for each of the two parts of the Essay question, for which the maximum mark is 40





The maximum mark for Papers 1 and 2 is 80.


Paper 3:





•  Section A: 1 mark per objective test question, with a maximum mark of 30 for the section



•  Section B: 10, 15 and 25 are the maximum marks for each of the three parts of the investigation in the case study, for which the maximum mark is 50





The maximum mark for Paper 3 is 80.


For both the AS and A-level the papers are equally weighted:





•  AS 50% + 50%



•  A-level [image: ]









1 Microeconomics






1 Economic methodology and the economic problem
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Economics is the study of choice and decision making in a world with limited resources. It tries to explain the economic behaviour of both individuals and groups of people, and the economic relationships between individuals and groups. Related to the noun ‘economics’, is the verb ‘to economise’. In large part, economics is the study of economising — the study of how people make choices about what to produce, how to produce and for whom to produce, in a world in which most resources are limited or scarce. How best can people make decisions on how scarce resources should be allocated among competing uses, so as to improve and maximise human happiness and welfare? This is the economic problem, which is the main focus of this introductory chapter.
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LEARNING OBJECTIVES


This chapter will explain:





•  important aspects of economic methodology



•  the difference between positive and normative statements



•  the nature and purpose of economic activity



•  how resources are used to produce goods and services



•  the role of factors of production in the economy



•  the fundamental economic problem



•  how the economic problem relates to scarcity and choice



•  the concept of opportunity cost



•  how production possibility diagrams illustrate key economic concepts including scarcity and choice
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1.1 Economic methodology


Economics as a social science


When answering the question ‘What is economics?’, a good point to start is the fact that economics is a social science. Social science is the branch of science that studies society and the relationships of individuals within a society. Besides economics, psychology, sociology and political science are also social sciences, as are important elements of history and geography.


Psychology studies the behaviour and mental processes of an individual. Sociology studies the social relationships between people in the context of society. By contrast, economics, as the name suggests, studies the economic behaviour of both individuals and groups of people, and the economic relationships between individuals and groups.


Let us give you two examples of what we mean. Our first example (about individual behaviour) is from an important part of economics known as demand theory, which is covered in Chapter 2. The theory addresses consumer behaviour, or how we behave when we go shopping. Why, for example, do people generally buy more strawberries as the price of strawberries falls?


Our second example introduces an important economic relationship. Having explained demand, we must go a stage further and look at how consumers interact with firms or producers. Firms supply and sell the goods that consumers buy, and economists call the ‘place’ in which goods are bought and sold a market. Indeed, before you started this economics course, you may well have heard the words ‘supply and demand’ and thought that is what economics is about. Well, in large measure that is true, particularly in the early chapters of this book, which cover Unit 1 of the specification.


Economics and scientific methodology


The essentials of scientific methodology, in the context of the demand theory we will look at in Chapter 2, are shown in the flowchart in Figure 1.1. Scientists start off by observing some aspect of the universe (in the natural sciences), or some aspect of human behaviour, in the case of the social sciences. In the case of demand theory, the starting-off point — shown in the uppermost box of Figure 1.1 — is observations of how individual consumers react to changes in the prices of the goods and services they buy. Demand theory then develops from the making of a tentative description, known as a hypothesis, of what has been observed. Hypothesis construction is depicted in the second box from the top in the flowchart. In the third box, predictions about human behaviour are deduced from the hypothesis, such as that an individual will always respond to a lower price by demanding more of the good in question.
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This prediction is then tested against collected evidence about how individuals behave in the market place (the fourth box from the top). At this stage, the hypothesis becomes a theory. (The difference between the two is that whereas a hypothesis is a proposed explanation for something, a theory is when a hypothesis is tested and survives the test.)


At this stage, we are in the bottom left-hand box of Figure 1.1. However, this does not mean that the theory is true in all circumstances. All it says is that the hypothesis has survived the test or tests to which it has been exposed. It might not survive stronger tests, which may not yet have been devised. Scientific method is based on the possibility of falsification or refutation of a hypothesis.


If a hypothesis fails to survive the tests to which it is exposed, one of two things can happen. The bottom right-hand box of Figure 1.1 shows the first possibility: outright rejection of the hypothesis. For example, a hypothesis that consumers always respond to price cuts by demanding less would surely be rejected (as would the hypothesis that consumers always respond to a price cut by demanding more of a good). The other possibility, which often occurs in economics, is that the hypothesis is changed, usually by watering it down, so as to make it less deterministic. In the case of demand theory, as the section on ‘Exceptions to the “law” of demand’ in Chapter 2 explains, watering down means that demand theory predicts that in most but not all cases, consumers respond to price cuts by demanding more of a good. Watered down in this way, the demand hypothesis survives the tests to which it is exposed, and becomes ‘the first “law” of demand’.


Social sciences and natural sciences


In 1905, the world-famous physicist, Albert Einstein, developed a theory of gravitation which predicted, among other things, that as it approaches Earth, light from a distant star is ‘bent’ by the gravitational pull of the sun. However, Einstein’s theory could not be tested until 1919 when there was a general eclipse of the sun. The theory survived the 1919 test, although much more recent tests have thrown doubt on parts of it. As is the case with Einstein’s theory, natural science theories are usually much ‘harder’ than the theories associated with ‘softer’ social sciences such as economics. As we have noted, economic theories often survive only through allowing a significant number of exceptions to their central predictions, which, according to critics, turns the theories into little more than generalisations.


Very often economists respond to the criticism that their subject is ‘soft’ by arguing that they are only concerned with ‘positive economics’, which they claim is based on quite strict use of scientific methodology. Positive economics is concerned with ‘what is’ and ‘what will happen’ if a course of action is taken or not taken. In contrast, ‘normative economics’ is concerned with ‘what should or ought to be’.


The difference between positive and normative statements


A lot of economics is concerned with what people ought to do. This is particularly true of the government. Ought the government try to reduce unemployment, control inflation and achieve a ‘fair’ distribution of income and wealth? Most people probably think that all these objectives are desirable. However, they all fall within the remit of normative economics. Normative economics is about value judgements and views, but because people have different views about what is right and wrong, normative statements cannot be scientifically tested.


By contrast, a positive statement can be tested to see if it is incorrect. If a positive statement does not pass the test, it is falsified. A positive statement does not have to be true, however. For example, the statement that the Earth is flat is a positive statement. Although once believed to be true, the statement was falsified with the growth of scientific evidence. The key point is that positive statements can in principle be tested and possibly falsified, while normative statements cannot. Normative statements include ethical, or moral, judgements. Words such as ought, should, better and worse often provide clues that a statement is normative.
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KEY TERMS


positive statement a statement of fact that can be scientifically tested to see if it is correct or incorrect.


normative statement a statement that includes a value judgement and cannot be refuted just by looking at the evidence.
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To take an economic example, consider the statement ‘If the state pension were to be abolished, a million older people would die of hypothermia.’ This is a positive statement which could be tested, though few if any people would want to do this. By contrast, the statement ‘The state pension ought to be abolished because it is a waste of scarce resources’ is normative, containing an implicit value judgement about the meaning of the word ‘waste’.
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STUDY TIP


Make sure you understand fully the difference between a positive and a normative statement.
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ACTIVITY


Get your fellow students to decide which of the following statements are positive and which are normative.





•  Statement 1: More of a good is demanded at a higher price.



•  Statement 2: The opportunity cost of spending an extra hour sleeping is always the same.



•  Statement 3: Unemployment benefits should be cut to prevent idleness in society.



•  Statement 4: If pensions are cut, more old people will die of hypothermia.



•  Statement 5: The government must devote more resources to healthcare.





Compare your results.
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EXTENSION MATERIAL


How value judgements influence economic decision making and policy


Economists emphasise the distinction between normative and positive economics, but they often forget that the decision to study one over the other is itself a value judgement, and therefore a normative decision. A value judgement is about whether something is desirable or not — if we believe it is more desirable to study what is happening in the economy rather than what ought to happen, we have made a value judgement. Economics necessarily requires that government ministers make value-based judgements when deciding on economic policies. Despite this, economists often wrongly insist that the subject is value-judgement free.


Several years ago, the then Chancellor of the Exchequer, the UK government minister in overall charge of economic policy, said: ‘Rising unemployment and the recession have been the price that we have had to pay to get inflation down. That price is well worth paying.’ Government ministers are seldom as frank as this, knowing that their political opponents and the media will immediately seize on the argument that those in power are uncaring and cynical people. However, the quote does serve to illustrate how decision makers make value judgements when making economic policy decisions.


On occasion, government ministers make decisions on issues such as where a new airport should be located or whether high-speed trains are worthwhile. Before making decisions on issues such as these, the policy-makers know in advance that large swathes of the population will strongly oppose whatever decision is eventually made. To ward off public hostility, government ministers usually create the illusion that the decision-making process is completely scientific and objective. To do this, they hire independent ‘experts’ to provide advice. But the choice of expert in itself involves a value judgement. Do you choose someone you know in advance is sympathetic to the government’s cause, or are you more willing to go for an independent maverick? Whichever way you go, the so-called scientific processes used by the ‘experts’ to reach their conclusions may be riddled with value judgements. A classic case involved weighing up the costs and benefits of the location of a third London airport, which ultimately depended on putting money values on an hour of a business person’s time, and an hour of a holidaymaker’s time. It was quickly found that when different values were put on these, the airport location recommended by the experts would have ‘lost out’ under different costing criteria.
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EXTENSION MATERIAL


The impact of moral and political judgements


Whatever decision is eventually made in the course of framing government economic policy, there will always be winners and losers who gain or suffer as a result of the decision. Governments often claim they have a moral right to make such decisions. They argue that their political manifesto published before the previous general election gives them the mandate, supported by the voters, to carry out their policies, regardless of the fact that among the electorate there would inevitably be some losers.


Consider, however, the position of the Liberal Democrats before and after the 2010 general election. Their party election manifesto contained a cast-iron commitment that, if elected to form the next government, the party would abolish university tuition fees. The Liberal Democrats did indeed form part of the next government, but the party’s leader immediately abandoned his commitment to abolish tuition fees. He completely reversed his policy and the party immediately lost its moral authority over policy-making.
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1.2 The nature and purpose of economic activity


Needs and wants


The central purpose of economic activity is the production of goods and services to satisfy people’s needs and wants. A need is something people have to have, something that they cannot do without. Food provides an example. If people starve, they will eventually die. By contrast, a want is something people would like to have, but which is not essential for survival. It is not absolutely necessary, but it is a good thing to have. Books provide an example. Some people might argue that books are a need because they think they can’t do without them. But they don’t need literature to survive. They do need to eat. (It is worth noting that food can be both a need and a want, depending on the type of food. Protein, vitamins and minerals are needs, but bars of chocolate are wants. People don’t need to eat chocolate to survive.)
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KEY TERMS


need something that is necessary for human survival, such as food, clothing, warmth or shelter.


want something that is desirable, such as fashionable clothing, but is not necessary for human survival.
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Needs, wants and improving economic welfare


Satisfying people’s needs and wants means improving economic welfare. Welfare is a concept bandied about a lot by economists, but often without a clear indication of what the concept means. Welfare basically means human happiness — anything which makes a person happier improves their economic welfare, though obviously we must ignore activities such as theft where one person becomes better off through stealing from other people. Short-term happiness may be at the expense of long-term happiness. The consumption of more material goods and services usually improves economic welfare, though consuming more and more food, and the wrong type of food, in the long term can lead to health problems.
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KEY TERM


economic welfare the economic well-being of an individual, a group within society, or an economy.
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There are also important elements of human happiness and welfare that have nothing to do with the consumption of material goods. These include quality of life factors, such as the pleasure gained from family and friends or from contemplating a beautiful view.
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STUDY TIP


Make sure you can explain the meaning of the term economic welfare.
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1.3 Economic resources


Nevertheless, for most people, most of the time, increased consumption of material goods is an important part of improving economic welfare. Most of the goods we consume must first be produced. This requires the use of economic resources. These goods are scarce in relation to demand, which gives rise to the need for economising in their use.


The basic nature of production is shown in Figure 1.2. Production is a process, or set of processes, that converts inputs into outputs. The eventual outputs are the consumer goods and services that go to make up our standard of living, though inputs are of course also used to produce the capital goods that are necessary for the eventual production of consumer goods.
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KEY TERMS


production a process, or set of processes, that converts inputs into output of goods.


capital good a good which is used in the production of other goods or services. Also known as a producer good.


consumer good a good which is consumed by individuals or households to satisfy their needs or wants.
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The factors of production


Economists call the inputs into the production process, which are listed in Figure 1.2, the factors of production. Four factors of production are usually identified. These are land, labour, capital and enterprise, the last often being called the entrepreneurial input.
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KEY TERM


factors of production inputs into the production process, such as land, labour, capital and enterprise.
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Entrepreneurs are different from the other factors of production. They are the people who address the issues introduced earlier, deciding what to produce, how to produce it and for whom to produce it. An entrepreneur decides how much of the other factors of production, including labour, to employ. The costs of employing land, labour and capital, together with the cost of the entrepreneur’s own services, become the firm’s costs of production. In essence, the entrepreneur is a financial risk taker and decision maker. Profit, which is the entrepreneur’s financial reward, results from successful decision making. Entrepreneurial profit is the profit left over after the cost of employing the other factors of production is deducted from the sales revenue gained from the sale of the goods and services the entrepreneur decides to produce.
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STUDY TIP


It is important to understand how factors of production are inputs used to produce output of goods and services.
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The environment as a scarce resource


Environmental resources comprise all the natural resources that are used or can be used in the economic system. These are:





•  physical resources, such as soil, water, forests, fisheries and minerals



•  gases, such as hydrogen and oxygen



•  abstract resources, such as solar energy, wind energy, the beauty of the landscape, good air and clear water
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Environmental resources can be split into renewable and non-renewable resources, with the latter further divided into recyclable and non-recyclable resources. Renewable resources, which are reproducible and perpetually maintainable, include forests, animals and water. The availability of these resources depends, however, on their management by humans. By contrast, non-renewable resources, such as oil, gas and minerals, cannot be regenerated or regeneration is so slow that the stock of resources cannot meaningfully be increased. These are finite resources. Recyclable non-renewable resources such as minerals, paper and glass can be reused in the economic system. In theory, all of these resources can be recycled but it is not always possible and economic to recycle more than a small fraction. Non-recyclable resources such as coal, gas and oil are finite in the sense that once used, their stock is no more available for future use.
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KEY TERMS


finite resource a resource, such as oil, which is scarce and runs out as it is used. Also known as a non-renewable resource.


renewable resource a resource, such as timber, that with careful management can be renewed as it is used.
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Environmental resources are part of the factor of production, land. Some environmental resources, such as the air we breathe and the water we drink, are often described as the ‘free gifts of nature’. However, this view can be questioned. In most countries and regions where large numbers of people live, clean air and drinkable water are scarce commodities and not the ‘free gifts of nature’. Resources which could be put to other uses are used instead to produce clean air and water. The need to get rid of the effects of pollution created by humankind means that clean air and water are scarce and not free. Production and consumption activities taking place in the economy affect and often damage the natural environment.


1.4 Scarcity, choice and the allocation of resources


The fundamental economic problem


The fundamental economic problem exists because both goods and the resources needed to produce goods are scarce. Scarcity also means that people (even the very rich) have limited incomes and face a budget constraint. If goods are scarce and incomes are limited, choices have to be made. Consider, for example, a family with a weekly income of £1,200. The family currently spends £350 on housing, £350 on food, £300 on other goods and services, including heating and lighting, and £100 on entertainment. The family’s total weekly spending on goods and services is thus £1,100, meaning the family manages to save £100. Suddenly, the cost of housing rises to £400. To avoid getting into debt, and assuming that family income can’t increase, one or more probably unpleasant choices will have to be made. An obvious possibility is to cut down on entertainment, such as visits to the cinema. Other possibilities could be spending less on home heating, buying cheaper food, cutting down on alcoholic drink and stopping saving. Something will have to be given up. Unless the family gets into debt or its income increases, it will have to economise even more on its spending and saving decisions.
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KEY TERMS


fundamental economic problem how best to make decisions about the allocation of scarce resources among competing uses so as to improve and maximise human happiness and welfare.


scarcity results from the fact that people have unlimited wants but resources to meet these wants are limited. In essence, people would like to consume more goods and services than the economy is able to produce with its limited resources.
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You must also appreciate the fact that, even without an increase in house prices, scarcity means that individuals and households are constantly making choices on how to spend their limited incomes and how to make the best use of their time. A decision to spend more on a holiday, for example, means that a family chooses to spend less on other goods, or to save less.


A need for choice arises whenever an economic agent (for example, an individual, a household or a firm) has to choose between two or more alternatives which are mutually exclusive, in the sense that it is impossible or impractical to achieve both at the same time. In the jargon of economics, an opportunity cost is involved.


Opportunity cost


If you ask friends who haven’t studied economics the meaning of the word ‘cost’, typically they will answer that cost is the money cost either of producing a good or of buying a good. Economists, by contrast, focus on opportunity cost. The opportunity cost of any choice, decision or course of action is measured in terms of the alternatives that have to be given up.
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KEY TERM


opportunity cost the cost of giving up the next best alternative.
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Economists generally assume that people behave rationally. Rational behaviour means people try to make decisions in their self-interest or to maximise their private benefit. When a choice has to be made, people always choose what they think at the time is the best alternative, which means that the second best or next best alternative is rejected. Providing people are rational, the opportunity cost of any decision or choice is the next best alternative sacrificed or foregone. For example, if you choose to spend half an hour watching EastEnders on TV, the opportunity cost is the lost opportunity to spend this time reading a magazine or book.
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TEST YOURSELF 1.1


Can you think of one factor that in real life may prevent a person from making a rational decision?
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STUDY TIP


Make sure you can link together the three concepts of scarcity, choice and opportunity cost.
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EXTENSION MATERIAL


Rational behaviour and opportunity cost


Look carefully at the sentence in the previous paragraph about opportunity cost: When a choice has to be made, people always choose what they think at the time is the best alternative, which means that the second best or next best alternative is rejected. The words ‘think at the time’ are quite important. Suppose you decide to see a film, believing at the time you are going to enjoy the film. Two hours later, coming out of the cinema, you say ‘that was a load of rubbish, I wish I hadn’t bothered’. Nevertheless, at the time the decision was made, deciding to watch the film was a rational decision because you believed you would enjoy watching it. Having left the cinema, irrational behaviour would be going back to the box office and paying good money to see the film again.


Even if the film can be watched freely on television, there is still an opportunity cost, though in this case involving solely time. Time is scarce, and the two hours spent watching the film cannot be spent on some other activity such as reading a book. A choice has to be made between the two activities. Of course the way the choice is exercised will differ for different people, even if everyone enjoys both watching films and reading. People with plenty of time to spare, for example retired or unemployed people, value time less highly than a City trader working in a dealing room from 7.00 a.m. until 9.00 p.m.


Going to a cinema to watch a film is, of course, a consumer activity. People have to think carefully about how they spend their limited incomes. In economics this is known as a budget constraint. Money spent on one good cannot be spent on another good. There is always an opportunity cost when deciding to consume a good, involving time if not money.
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Firms also have to make choices on what and how to produce. Consider a textile manufacturer who can produce either shirts or dresses from the same production line, but not both goods at the same time. In this situation, the opportunity cost of producing more shirts is the number of dresses sacrificed or foregone. Suppose also that both shirts and dresses can be produced using one of two different technologies. These are a labour-intensive technology involving lots of workers but very little capital equipment, and a capital-intensive technology in which there are very few workers but expensive automated capital equipment. Given the budget constraint facing the firm, the opportunity cost of choosing one method of production is the sacrificed opportunity to use the other method.


A further example of opportunity cost arises when a teenager makes a decision on whether to leave school and get a job, or whether to go to university. Very often this involves the choice between income now and income in the future. Economists call this inter-temporal choice, or choice over time.
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ACTIVITY


Construct a questionnaire which lists five activities that you know interest most of the students in your class. These could be playing a video game, watching a popular TV show, visiting a coffee bar, reading a magazine on their favourite hobby, and going window shopping. Ask each of your fellow students to rank the activities in order from 1 to 5, with 1 being the most preferred, 2 the second preferred, and so on. Tell your classmates that all the activities are completely free, but that they can only take part in one activity. Compare the results with your fellow students, asking them to discuss how the results can be analysed using the concept of opportunity cost.
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QUANTITATIVE SKILLS 1.1


Worked example: calculating an opportunity cost


A small electrical goods manufacturer can produce either TV sets or radio sets using all its available resources. Table 1.1 shows the different combinations of the two goods the firm can produce.


Table 1.1






	TV sets

	Radio sets






	0

	30






	1

	29






	2

	27






	3

	24






	4

	20






	5

	15






	6

	9






	7

	0







What happens to the opportunity cost of TV sets in terms of radios, as TV set production increases from zero to seven sets?


If the firm chooses to produce only one TV set, its opportunity cost is one radio set foregone (30 minus 29 radio sets). Performing a similar calculation when TV set production is increased by an extra unit, the opportunity cost of the second TV set is two radio sets. All the opportunity costs are set out in Table 1.2:


Table 1.2 Opportunity costs of producing an extra TV set






	1st TV set

	1 radio set (30 minus 29)






	2nd TV set

	2 radio sets (29 minus 27)






	3rd TV set

	3 radio sets (27 minus 24)






	4th TV set

	4 radio sets (24 minus 20)






	5th TV set

	5 radio sets (20 minus 15)






	6th TV set

	6 radio sets (15 minus 9)






	7th TV set

	9 radio sets (9 minus 0)







The data shows an increasing opportunity cost in terms of radio sets foregone as production of TV sets increases.
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STUDY TIP


Make sure you understand and can distinguish between the words micro and macro. ‘Micro’ means small, whereas ‘macro’ means large. Microeconomics, which is covered in the first five chapters of this book, looks at the ‘little bits’ of the economy, for example individual markets, firms and consumers. By contrast, macroeconomics, covered in Chapters 6–9, looks at the ‘aggregate economy’ or the economy ‘as a whole’.
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1.5 Production possibility diagrams


So far, we have focused mainly on how scarcity and choice may affect firms, families and individuals at the microeconomic level. In much the same way, but on a far grander scale, the economy of the nation as a whole faces a similar need for choice. To explain how the economic problem affects the whole economy, we will use a diagram which you will come across again and again in your economics course — a production possibility diagram.


The key feature of a production possibility diagram is a production possibility frontier (PPF) or production possibility curve. A PPF curve illustrates the different combinations of two goods, or two sets of goods, that can be produced with a fixed quantity of resource, providing we assume that all available resources are being utilised to the full. The PPF curve in Figure 1.3 illustrates the different combinations of capital goods and consumer goods that the whole economy can produce when all the economy’s resources are employed, with no spare capacity. To put it another way, the PPF curve shows what the economy can produce, assuming that all the labour, capital and land at the country’s disposal are employed to the full, and assuming a given state of technical progress.




[image: ]


KEY TERM


production possibility frontier a curve depicting the various combinations of two products (or types of products) that can be produced when all the available resources are fully and efficiently employed.
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Given that resources and capacity are limited, a choice has to be made about the type of good to produce. Look closely at points X and Y on the diagram. Point X shows the maximum possible output of consumer goods, assuming that the economy only produces consumer goods (i.e. no capital goods are produced). Likewise, point Y shows the maximum possible output of capital goods, assuming that the economy only produces capital goods. In fact, points X and Y show the two extreme production possibilities, since all goods are either consumer goods or capital goods. Finally, the line drawn between points X and Y in Figure 1.3 is the economy’s production possibility frontier. The PPF curve shows all the different combinations of consumer goods and capital goods that can be produced, given the assumptions mentioned earlier about full employment of available resources and the state of technical progress. Point A, for example, shows K1 capital goods and C1 consumer goods being produced. An increase in capital good production to K2, shown at point B, means that consumer good production falls to C2. C1 minus C2 is the opportunity cost of producing K2 minus K1 additional capital goods. Whichever combination of capital and consumer goods is actually chosen reflects decisions made in society about allocating scarce resources between competing uses.
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STUDY TIP


You must learn to draw and interpret production possibility diagrams, which are important in both microeconomics and macroeconomics. At the micro level they can be used to illustrate scarcity, choice, opportunity cost and productive efficiency. At the macro level, they can be used to illustrate economic growth, and full employment and unemployment.
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SYNOPTIC LINK


As explained on the next page, production possibility diagrams can also be used to illustrate economic growth. This is revisited in Chapters 7 and 8. However, those chapters focus on another way of illustrating economic growth, in terms of aggregate demand and supply or AD/AS analysis.
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EXTENSION MATERIAL


Macroeconomic PPF diagrams


The production possibility frontier in Figure 1.3 shows the economy as a whole, which means that the PPF curve depicts the macro economy. Before we look at some microeconomic production possibility frontiers, we shall explain two important ways in which macroeconomic PPF diagrams can be used.


Using a PPF diagram to show economic growth


Figure 1.4 shows how a PPF diagram can be used to illustrate economic growth. There are two forms of economic growth, which are explained in detail in Chapter 8. These are long-run economic growth and short-run economic growth.
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Economic growth is defined as the increase in the potential level of real output the economy can produce over a period of time: for example, a year. Strictly, this is long-run economic growth, which is not the same as short-run economic growth. If the economy’s production possibility frontier is PPF1 initially, short-run economic growth is shown by the movement from point C inside the frontier to a point, such as point A, on the frontier. Long-run economic growth is shown by the outward movement of the frontier to PPF2. The movement from point A to point B depicts long-run economic growth. Short-run growth makes use of spare capacity and takes up the slack in the economy, whereas long-run growth increases total productive capacity.


Using a PPF diagram to show full employment and unemployment


As mentioned earlier, all points on a production possibility frontier show full employment of available resources. For a macroeconomic production possibility frontier, this means full employment of labour as well as other resources that can be used in the course of production. Thus, points A and B in Figure 1.5 show full employment when the economy’s production possibility frontier is in the position indicated. By contrast, a point inside the PPF curve, such as point X, shows that some resources, including labour, are not being employed. There is unused capacity in the economy. (Note that if long-run economic growth were to move the PPF curve outward to a new position, points A and B on the ‘old’ production possibility frontier would now be points of unemployment, as they would be located inside the new ‘further out’ frontier.)
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KEY TERMS


economic growth the increase in the potential level of real output the economy can produce over a period of time.


full employment when all who are able and willing to work are employed.


unemployment when not all of those who are able and willing to work are employed.
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SYNOPTIC LINK


Full employment and unemployment feature in all the chapters in Part 2, The national economy, particularly in Chapter 8.
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EXTENSION MATERIAL


Microeconomic PPF diagrams


Look carefully at the microeconomic production possibility frontier in Figure 1.6. We can tell this is a microeconomic diagram because of the labels on the two axes of the graph. The diagram depicts a situation in which a firm can produce both mobile phones and laptop computers from the resources it has available. As in the first macroeconomic diagram (Figure 1.3), points X and Y show the extreme possibilities facing the firm. Point X on the horizontal axis shows the maximum possible output of laptop computers — providing no mobile phones are produced. This means that all available resources are devoted to the production of laptop computers. Conversely, point Y on the vertical axis shows the opposite situation: the maximum possible output of mobile phones when zero laptop computers are produced. As was the case in the macroeconomic production possibility diagrams, all points on the PPF curve between X and Y show different combinations of the two goods being produced between the two extreme possibilities.
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We can use Figure 1.6 to explain a number of important economic relationships.


Scarcity, resource allocation and choice


A PPF diagram such as Figure 1.6 shows different possible ways in which scarce resources can be allocated between competing uses. This involves choice. Compared to the resource allocation at point A, point B shows the effect of shifting more resources into the production of mobile phones, with fewer resources being allocated to laptop computer production.


Opportunity cost revisited


Production possibility diagrams provide a very good way of illustrating opportunity cost. Suppose, for example, that the firm in Figure 1.6 initially produces MP1 mobile phones and LC1 laptop computers. This combination of the two goods is shown at point A in the diagram. A decision by the manufacturer to increase production of mobile phones from MP1 to MP2 means that computer production falls by LC1 minus LC2. Moving from point A to point B on the curve, the fall in computer production is the opportunity cost of the increase in phone production.


Look now at the shape of the PPF curve in Figure 1.6. You can see that the slope of the curve falls, moving up the curve from point A to point B, and indeed to all other points further up the curve. There is a reason for this. The slope shows the opportunity cost of producing more mobile phones, in terms of the laptop computers that have to be sacrificed. When mobile phone production increases from MP1 to MP2 laptop computer production falls by LC1 minus LC2. This is the opportunity cost involved. But suppose mobile phone production increases again by the same amount as before (which means that MP3 minus MP2 is the same as MP2 minus MP1). In this situation, shown at point C on the curve, more laptop computers than before have to be given up. LC3 minus LC2 is larger than LC2 minus LC1. The slope of the curve of the production possibility frontier shows that the opportunity cost of producing mobile phones increases as more mobile phones are produced. A greater number of laptop computers have to be sacrificed whenever an extra mobile phone is produced.
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KEY TERMS


choice choosing between alternatives when making a decision on how to use scarce resources.


resource allocation the process through which the available factors of production are assigned to produce different goods and services, e.g. how many of the society’s economic resources are devoted to supplying different products such as food, cars, healthcare and defence.
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Productive efficiency and production possibility diagrams


You will come across the concept of economic efficiency on numerous occasions as you proceed through the course. There are a number of different measures of economic efficiency, one of which is productive efficiency. Chapter 3 explains productive efficiency in terms of a firm minimising the average cost of producing a good. In this chapter, we focus on two other ways of explaining the concept, both of which are illustrated by the production possibility curve in Figure 1.7.
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KEY TERM


productive efficiency for the economy as a whole occurs when it is impossible to produce more of one good without producing less of another. For a firm it occurs when the average total cost of production is minimised.
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Productive efficiency occurs when output is maximised from available inputs. But we know already that a PPF curve shows maximisation of output from available inputs at every point on the curve, though the combination of the two goods (in this case capital goods and consumer goods) varies at different points on the curve. This means that all points on the economy’s production possibility frontier shown in Figure 1.7, including points A and B, are productively efficient. By contrast, all points inside the PPF curve are productively inefficient, including point Z. Productive inefficiency occurs when output is not maximised from available inputs. At point Z, the economy is not employing all the available resources, including, of course, labour. Productive inefficiency is often associated with unemployment.


Consider now a movement along the PPF curve from point A to point B. The diagram is telling us that, when on the PPF curve, more capital goods can be produced only by giving up the production of some consumer goods. This is another way of explaining productive efficiency. Productive efficiency occurs when producing more of one good involves reducing production of other goods. By contrast, when the economy is productively inefficient at point Z, more capital goods and consumer goods can be produced by taking up the slack in the economy and making use of idle resources.
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EXTENSION MATERIAL


Allocative efficiency


Another measure of economic efficiency is allocative efficiency. As is the case with productive efficiency, allocative efficiency can be explained in more than one way. In this chapter we define allocative efficiency as occurring when economic activity results in the best combination of goods and services being produced, and available to be consumed, taking into account consumers’ preferences.


Production possibility curves show production possibilities, or the different goods people can choose to purchase when spending their limited incomes. The economy’s production possibility frontier shows all productively efficient outcomes, but it does not identify an optimal allocation of resources. The allocatively efficient output is the point on the PPF curve that best meets people’s tastes and preferences. However, this output does not necessarily optimise society’s welfare because that also depends on the distribution of income and wealth and value judgements relating to fairness and justice.
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KEY TERM


allocative efficiency occurs when the available economic resources are used to produce the combination of goods and services that best matches people’s tastes and preferences.
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QUANTITATIVE SKILLS 1.2


Worked example: drawing a production possibility curve from given data


Draw a production possibility frontier using the data below.


Table 1.3 Production possibility schedule for producing tanks and military aircraft






	Tanks

	Military aircraft






	100

	0






	90

	10






	80

	20






	70

	30






	60

	40






	50

	50






	40

	60






	30

	70






	20

	80






	10

	90






	0

	100







The production possibility curve drawn from this data is:
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Unlike all the production possibility curves shown earlier in this chapter, this one shows a constant opportunity cost of ten military aircraft whenever 10 extra tanks are produced. This means that the production possibility curve is a straight line, positioned between the two production possibility extremes of zero tanks and 100 military aircraft, and 100 tanks and zero military aircraft.
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TEST YOURSELF 1.2


Suppose the opportunity cost of producing one extra unit of a good in terms of another good sacrificed fell as more of the good is produced. In what way would the shape of the production possibility curve differ from those shown in this chapter?
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CASE STUDY 1.1


Allocating resources through the price mechanism and the planning mechanism


There are a number of ways in which scarce resources can be allocated between competing uses. These include inheritance and other types of gift, theft and chance (such as winning a fortune on the National Lottery). However, the two main allocative mechanisms are the price mechanism (or market mechanism) and the planning mechanism (or command mechanism). An economic system in which goods and services are purchased through the price mechanism in a system of markets is called a market economy, whereas one in which government officials or planners allocate economic resources to firms and other productive enterprises is called a planned economy (or command economy).


In a pure market economy, the price mechanism performs the central economic task of allocating scarce resources among competing uses through the markets which make up the economy. Transport costs and lack of information may create barriers that separate or break up markets. In past centuries, such barriers often prevented markets from operating outside the relatively small geographical area of a single country or even a small region within a country.


However, while some markets exist in a particular geographical location — for example, a street market or until quite recently the London Stock Exchange — many markets do not. In recent years, modern developments have allowed goods to be transported more easily and at lower cost, and have helped in the transmission of market information via telephone and the internet. This has enabled many markets, especially commodity and raw material markets and markets in financial services, to become truly global or international markets functioning on a worldwide basis.


A complete command economy is an economy in which all decisions about what, how, how much, when, where and for whom to produce are taken by a central planning authority, issuing commands or directives to all the households and producers in the society. Such a system could only exist within a very rigid and probably totalitarian political framework because of the restrictions on individual decision making that are implied.


In much the same way as a pure market economy, in which the price mechanism alone allocates resources, is a theoretical abstraction, so no economy in the real world can properly be described as a complete or pure planned economy. Before the collapse of the communist political system around 1990, the countries of eastern Europe were centrally planned economies. However, they were not pure planned economies. Production but not consumption was planned. Consumers often had to queue to get consumer goods, whose prices were fixed by the planners. Shortages resulted, which, together with the generally inferior quality of consumer goods, contributed to the breakdown of the command economies. Some communist countries still exist, namely the People’s Republic of China, North Korea, Vietnam and Cuba. However, all these countries, with the exception until recently of North Korea, have encouraged the growth of markets to a greater or lesser extent. They have communist political systems, but they have moved away from being pure command economies.


Follow-up questions





1 Distinguish between a pure market economy and the market sector of a mixed economy.



2 What is the other name of a planned economy?
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CASE STUDY 1.2


The UK as a mixed economy


Many economies, particularly those of the developed countries of Western Europe such as the UK, are called mixed economies. A mixed economy contains both a large market sector and a large non-market sector in which the planning mechanism operates. Figure 1.9 illustrates mixed economies in relation to planned and market economies.
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The UK economy developed into a mixed economy after the Second World War, when a number of important industries such as coal, rail and steel were nationalised and taken into public ownership. Previously, the 1944 Education Act had extended state provision of education, and the creation of the National Health Service in 1948 did the same for healthcare.


For about 30 years after the end of the Second World War, from the 1940s to the 1970s, the majority of UK citizens (and the major political parties) agreed that the mixed economy was working well. Most people believed that certain types of economic activity, particularly the production and distribution of consumer goods and services, were best suited to private enterprise and the market economy. But people also accepted that utility industries such as gas and electricity should be nationalised, and that important services such as education, healthcare and roads should be provided by government, outside the market, and financed through the tax system. In short, a consensus existed around the belief that the mixed economy was right for the UK.


However, from about 1980 onwards, many economists and politicians began to blame the mixed economy for the UK’s deteriorating economic performance, relative to that of its main competitors in Western Europe and Japan. Critics argued that the public and non-market sectors of the economy were inefficient and wealth consuming rather than wealth creating. They had become too big and needed cutting down to size. Critics of the mixed economy argued that a concerted effort should be made to change fundamentally the nature of the UK economy by increasing private ownership and market production.


Successive governments implemented policies that changed the nature of the mix in favour of private ownership and market forces, at the expense of public ownership and state planning. The UK economy is now much closer to being a pure market and private enterprise economy than it was 40 years ago. The three main policies used to change the nature of the UK economy have been privatisation, marketisation and deregulation, polices which collectively can be called economic liberalisation.


Privatisation involved the sale of state-owned assets such as nationalised industries to private owners. This was often accompanied by marketisation (or commercialisation), whereby prices are charged for goods and services the state previously provided free of charge. Deregulation, the third aspect of liberalisation, attempts to remove barriers to entry and government red tape and bureaucracy from the operation of markets.


Follow-up questions





1 What is meant by private enterprise?



2 Distinguish between privatisation and marketisation.
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SUMMARY





•  Economic methodology involves the application of tested economic theories to explain real-world economic behaviour.



•  It is important to understand the difference between positive and normative statements. A positive statement can be tested to see if it is correct or false; a normative statement is a statement that includes a value judgement which cannot be refuted purely by looking at the evidence.



•  The economic problem is how limited resources are used in relation to people’s desires and wants.



•  The economic problem results from scarcity.



•  Scarcity results in the need for choice.



•  Whenever a choice has to be made there is an opportunity cost.



•  The opportunity cost of any decision is the next best alternative forgone.



•  Economists generally assume that people are rational, choosing the best alternative available.



•  Production is a process, or set of processes, that converts input into outputs.



•  The inputs into the production process are called factors of production.



•  The entrepreneur is the factor of production that decides what to produce, how to produce and for whom to produce.



•  Environmental resources comprise all the natural resources that are used or can be used in the economic system.



•  Key economic concepts such as scarcity, choice, opportunity cost, economic growth, and full employment and unemployment, can be illustrated on a production possibility diagram.



•  A production possibility frontier illustrates the different combinations of goods that can be produced with a fixed quantity of resource.



•  Different economic systems allocate resources between different uses in different ways.



•  In a market economy, the price mechanism performs the allocative task.



•  The UK economy is a mixed economy, containing a mix of market and non-market sectors, and private and public sectors.



•  The nature of the UK mixed economy has changed during the last 40 years.
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Questions





1 With an example of each, explain the difference between a positive and a normative statement.



2 With an example of each, explain the difference between a need and a want.



3 What is the fundamental or central economic problem?



4 Relate scarcity to the need to make economic choices and to opportunity cost.



5 Briefly describe the four factors of production.



6 Distinguish between a non-renewable and a renewable environmental resource.



7 Draw a production possibility frontier to illustrate the choice between producing capital goods and consumer goods.
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2 Price determination in a competitive market
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Chapter 1 introduced you to one of the fundamental economic problems: how to allocate scarce resources between competing uses in conditions in which there are limited resources and unlimited wants. In a market economy, resource allocation is undertaken by the price mechanism operating in the system of markets that make up the economy. This is true also in the ‘market sector’ of a ‘mixed economy’. However, in a mixed economy there is also a ‘non-market sector’ in which goods and services such as roads and police are produced and delivered to final users ‘outside the market’. The UK is often said to be a ‘mixed economy’ though in recent decades the nature of the ‘mix’ has been shifting towards a pure market economy and away from non-market provision.


This chapter focuses on markets and the price mechanism, and looks only at competitive markets. Many of the markets in the UK economy are uncompetitive markets, but these are investigated in Chapter 4.
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KEY TERM


competitive market a market in which the large number of buyers and sellers possess good market information and can easily enter or leave the market.
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LEARNING OBJECTIVES


This chapter will:





•  explain the nature of demand and supply in a competitive market



•  differentiate between a movement along a demand or a supply curve and a shift of a demand or a supply curve



•  introduce the concept of elasticity and explain the different elasticities you need to know



•  bring demand and supply curves together in a supply and demand diagram



•  distinguish between market equilibrium and disequilibrium in a supply and demand diagram



•  investigate different ways in which markets are interrelated



•  examine a number of real-world markets
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What is a market?


A market is a voluntary meeting of buyers and sellers. Both buyer and seller have to be willing partners to the exchange. If, for example, a buyer uses violence or the threat of violence to ‘persuade’ a seller to supply goods at a price unfavourable to the seller, this is a forced transaction and not a market transaction.


Markets do not have to exist in a particular geographical location. Whenever a good or service is voluntarily bought and sold, a market transaction takes place. Over history, market transactions shifted away from open-air street markets to take place in shops. Shops have higher overhead costs, but they offer a permanent site of exchange and a continuing relationship between sellers and buyers. In recent years, the growth of the internet has allowed 24/7 e-commerce. As a result many markets, especially those in commodities, raw materials and financial services, have become truly global.


Competitive markets


A market is highly competitive when there are a large number of buyers and sellers all passively accepting the ruling market price that is set, not by individual decisions, but by the interaction of all those taking part in the market. The ruling market price (or equilibrium price) is set by supply and demand in the market as a whole. Highly competitive markets lack entry and exit barriers. This means that new buyers and sellers can easily enter the market without incurring costs. In the same way buyers and sellers can leave the market if they wish to. Competitive markets also exhibit a high degree of transparency — buyers and sellers can quickly find out what everyone else in the market is doing.
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KEY TERMS


equilibrium price the price at which planned demand for a good or service exactly equals planned supply.


supply the quantity of a good or service that firms are willing and able to sell at given prices in a given period of time.


demand the quantity of a good or service that consumers are willing and able to buy at given prices in a given period of time. For economists, demand is always effective demand.
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2.1 The determinants of demand for goods and services


Households and firms operate simultaneously in two sets of markets. The first of these contains the goods markets in which households demand and buy consumer goods and services produced and supplied by firms. But for household demand in the goods market to be an effective demand — that is, demand backed up by an ability to pay — households must first sell their labour, or possibly the services of any capital or land they own, in the markets for factors of production. These were briefly mentioned in Chapter 1. Households’ roles are therefore reversed in goods markets and factor markets. In this chapter, we ignore factor markets and focus solely on the determinants of demand for consumer goods and services.
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KEY TERM


effective demand the desire for a good or service backed by an ability to pay.
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Market demand and individual demand


Normally when economists refer to demand, they mean market demand. This is the quantity of a good or service that all the consumers in the market wish to, and are able to, buy at different prices. By contrast, individual demand is the quantity that a particular individual, such as yourself, would like to buy. The relationship between market and individual demand is simple. Market demand is just the sum of the demand of all the consumers in the market.
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KEY TERM


market demand the quantity of a good or service that all the consumers in a market are willing and able to buy at different market prices.
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The ‘law’ of demand


The ‘law’ of demand states that as a good’s price falls, more is demanded. There is thus an inverse relationship between price and quantity demanded. Note that the word ‘law’ is in inverted commas. This is because a law in economics is not as strong or watertight as a law in a natural science subject such as physics. Whereas a law in physics will always hold, a social science law always has ‘ifs’ and ‘buts’ attached. More of a good is usually demanded as its price falls, but there are exceptions, which are explained on page 24.


The market demand curve


The market demand curve in Figure 2.1 illustrates the ‘law’ of demand. If the price starts off high, for example at P1, household demand is Q1. But if the price falls to P2, demand increases to Q2.


Demand for a good varies according to the time period being considered. For example, weekly demand is different from daily, monthly and annual demand. For this reason, the horizontal axis in Figure 2.1 is labelled ‘Quantity demanded per period of time’. It is normal practice to use the label ‘Quantity’ on the horizontal axis of a demand curve diagram, as we do in the rest of this book, but this is an abbreviation. It always refers to a period of time.
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SYNOPTIC LINK


Microeconomic demand curves look very similar to aggregate demand curves, which are explained in Chapter 7. It is vital that you don’t confuse the two. Likewise, don’t confuse demand with consumption, which is a component of aggregate demand, also explained in Chapter 7.
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ACTIVITY


Construct a questionnaire containing the following question: ‘How many litre bottles of cola would you buy each week if the price was £2, £1.50, £1.00, 50 pence, 25 pence?’ Ask a sample of your friends to answer the question and analyse their answers. What are the problems with estimating demand curves in this way?
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Movement along a demand curve and shifts of a demand curve


Students often confuse a movement along a demand curve and a shift of a demand curve. A movement along a demand curve takes place only when the good’s price changes. Provided the demand curve slopes downwards, a fall in price results in more of the good being demanded. This is sometimes called an extension of demand. Likewise, a contraction of demand occurs when a rise in price leads to less being demanded.
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STUDY TIP


You must understand the difference between a movement along a demand or supply curve and a shift of the curve.
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When we draw a market demand curve to show how much of the good or service households plan to demand at various possible prices, we assume that all the other variables that may also influence demand are held unchanged or constant. This is the ceteris paribus assumption, which means ‘other things being equal’. Among the variables whose values are held constant or unchanged when we draw a demand curve are disposable income and tastes or fashion. Collectively, the variables (other than the good’s own price) whose values determine planned demand are often called the conditions of demand. A change in a condition of demand shifts the demand curve to a new position.
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KEY TERM


condition of demand a determinant of demand, other than the good’s own price, that fixes the position of the demand curve.
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The conditions of demand


The main conditions of demand are:





•  the prices of substitute goods or goods in competing demand (see section 2.6)



•  the prices of goods in joint demand or complementary goods (see section 2.6)



•  personal income (or more strictly personal disposable income, after tax and receipt of benefits)



•  tastes and preferences



•  population size, which influences total market size





If any of the conditions of demand change, the position of the demand curve changes, shifting either rightward or leftward. Figure 2.2 illustrates a rightward shift of the demand curve, which is also called an increase in demand, and means more of the good is demanded at any given price. For example, at a price of P1, the quantity demanded increases from Q1 to Q2. Conversely, a leftward shift of demand (known as a decrease in demand) causes the quantity demanded to fall at any given price.
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KEY TERMS


increase in demand a rightward shift of the demand curve.


decrease in demand a leftward shift of the demand curve
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Events that might cause a rightward shift of a demand curve include:





•  an increase in the price of a substitute good or good in competing demand (see the section on the interrelationship between markets)



•  a fall in the price of a complementary good or good in joint demand



•  an increase in personal disposable income (but see the following section on normal goods and inferior goods)



•  a successful advertising campaign making people think more favourably about the good



•  an increase in population size





Normal goods and inferior goods


When disposable income increases, a demand curve shifts rightward, but only if the good is a normal good, for which demand increases as income increases. However, some goods are inferior goods, for which demand decreases as income increases, and an increase in income shifts the demand curve leftward.
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KEY TERMS


normal good a good for which demand increases as income rises and demand decreases as income falls.


inferior good a good for which demand decreases as income rises and demand increases as income falls.
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To take an example, private car transport and bus travel are not just substitutes for each other. As people’s incomes rise, demand for cars generally increases, while, at the same time, demand for bus travel usually falls. If people respond in this way to changes in income then private transport is a normal good, but certain forms of public transport are inferior goods. For an individual, whether a good is normal or inferior depends on personal income, tastes and, possibly, age. For young children, junk food such as sweets is usually a normal good. When parents increase small children’s pocket money, they generally buy more sweets. But as children get older, tastes change, and sweets may very well become an inferior good.
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